°
J\ —
oo H0{&! =Q2IE 3= =LAl &2 EFR] DIN ISO 12240-1,
A Hig
-.-.-XIE SZIR
=5 ’é?é/xila OIDIKI
oYy
=
5t ALO|= (D) 5-12 A Y 2|, AlO|= (D) 16 7tE AR EHHE R
=)
2 x0IE 22 Hlo{2 AE Zst, Aot FE %2
PTFE 2o|F & & H0{E AE
#M OfF2|:
Ol =3.
HH.
2c e getold Hoile Hul7t
IO oie
4L HAERL-
1 X|4=£ DIN 648 AlE2|= | SHE&
=M
K
DH7
—7 ' |
S — T
= T =|— 1 — 1 3 ?}
v : /
15 B1
L—L—
Ei
] /
{1 {OTF 1
K Y ’
T A
L1
EZS 29
S2l0|g H0{2] =OIE §|= =LIAL 52 EI2 DIN ISO 12240-1 A2 SER
FEHS HZA 2 ExAME A B B1D D1 D2 D3 H H1 K L L1 o SW EstS=2 Ee 5=
= k|
kN kN
K2080.05 QELTIO[LIAF  FHAIZ 27 18 4 5 M5 85 118 6 11,11 10 36 13 9 5,7 6
K2080.06 QE&TIOILIAF  FHAZ 3020 5 6 M6 10 13 9 6,75 12,7 12 40 13 11 7.2 7,65
K2080.08 QE&ZEO|LIAF  FHAZ 3624 5 8 M8 1251612 9 15875 16 48 14 14 11,6 12,9
K2080.10 QELTIO|LIAF  FHAIZ 43 286,510  M10 15 19 14 10,5 19,05 20 57 13 17 14,5 18
K2080.10125 <SE2Ff0o|LAF  ZHAFZ 43 286,510 M10x1,25 15 19 14 10,5 19,05 20 57 13 17 14,5 18
K2080.12 QELZFO|ILIAF  FHAZ 50 326512 M12 17,5 2216 12 2222522 66 13 19 17 24
K2080.12125 QE&ZF0|LIAF  FHAHZ 50 326,512 M12x1,25 17,5 2216 12 22,225 22 66 13 19 17 24
K2080.16 QELZTO| LIAF B 64 42 8 16 M16 22 2721 15 2857528 85 15 22 28,5 39
K2080.1615 QELZTIO| LIAF BtZ 64 42 8 16 M16x1,5 22 2721 15 28,575 28 85 15 22 28,5 39
K2080.20 QELTO| LIAF bzt 77 50 10 20 M20x1,5 27,5 3425 18 34,925 33 102 14 30 425 57
K2080.22 QEZZTIO| LIA B 84 54 12 22 M22x1,5 30 3828 20 38,10 37 11 15 32 57 68
K2080.25 QELZTIO| LIAF BtZ 91 60 12 25 M24x2,0 33,5 4231 22 42,86 42 124 15 36 68 85
K2080.30 QELTO| LIAF BtZt 11070 1530 M30x2,0 40 5037 25 50,8 51 145 17 41 88 114
K2080.35 QELTIO| LIAF EtZ 12581 17 35 M36x2,0 46 58 43 28 57,15 56 165,5 16 50 106 142

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
szjo|g H1I01E°' O1E 3l|= s~LIA} &2 EF2 DIN ISO 12240-1,
SAEE: ST
=E ROI:

FEHS HZA 2 Ex "2 A B B1 D D1 D2 D3 H H1 K L L1 aSW E&ds5Z2 Esis=2
= k|
kN kN

K2080.40 QELEIO[ LIAF CFZ 14291 19 40 M42x2,0 53 6549 33 66,67 60 187,5 16 55 125 171
K2080.051 RIEZ0| LEAL ALY 27 18 4 5 M5 85118 6 11,11 10 36 13 9 57 6
K2080.061 RI&ZO| LEAL HAZ 30 20 5 6 M6 10 13 9 6,75 12,7 12 40 13 11 7,2 7,65
K2080.081 %ICQOI LFAH AZ 36 24 5 8 M8 1251612 9 15875 16 48 14 14 11,6 12,9
K2080.101 RlIEZOo| LEAL FArZ 43 286,510 M10 15 1914 10,5 19,05 20 57 13 17 14,5 18
K2080.101251 el&zto| LEAL F|ArZE 43 286,510 M10x1,25 15 1914 10,5 19,05 20 57 13 17 14,5 18
K2080.121 2l&zro| LEA FArZE 50 326,512 M12 17,522 16 12 22225 22 66 13 19 17 24
K2080.121251 RlI&Zo| LEAL FHArZE 50 326,512 M12x1,25 17,5 2216 12 22225 22 66 13 19 17 24
K2080.161 el&zto| LEAL BtZ 64 42 8 16  M16 22 2721 15 28,575 28 85 15 22 28,5 39
K2080.16151 2l&Z 0| LEAL CtZt 64 42 8 16 M16x1,5 22 2721 15 28,575 28 85 15 22 28,5 39
K2080.201 RIEZ0| LEAL Bz 77 50 10 20 M20x1,5 27,5 3425 18 34,925 33 102 14 30 425 57
K2080.221 el&zto| LEAL EtZt 84 541222 M22x1,5 30 3828 20 3810 37 11 15 32 57 68
K2080.251 2l&Z 0| LEAL EtZt 91 60 12 25 M24x2,0 33,5 4231 22 42,86 42 124 15 36 68 85
K2080.301 RlIEZ0| LEAL EtZ 11070 1530 M30x2,0 40 5037 25 50,8 51 145 17 41 88 114
K2080.351 el&zto| LEAH EtZt 12581 17 35 M36x2,0 46 5843 28 57,15 56 1655 16 50 106 142
K2080.401 2l&Z 0| LEAL EtZt 14291 19 40 M42x2,0 53 6549 33 66,67 60 187,5 16 55 125 171

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



